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—BE=F —EE_F
Bt = TERT FET
(E75)
BREXBCHESRE
BRELAT SR (B 48) 10,895 (96,220)
KAETHEE -
8 % B 2N 9 18,179 30,188
PR s REHI 28 REE (2,070) 237
8 g A 6 (56) (76)
HEBTEEZEHER (M) 7 644 (83)
HEREMERE 7 41 5,337
MR AT E RS EE 4 2 I3 2 (18,000) -
e 7 20,649 22,465
KRR ERE 7 = 250
HREZESCEZEERE CRERD) 7 (2,063) 7,105
ME+tmREFEH A% (BL) 7 (9,245) 12,876
REWHE 2 BB EA 7 = 1,980
REEBE 7 88 2,388
H b e K 7 1,965 12,487
BB A2 AR R 21,027 (1,066)
AR SR 2,243 2,395
FERE LD, (M) (1,730) 3,648
FEM AR SR R B D (8 ) (16,262) 2,064
A RIE - e REMERRIER D) 7,144 (5,428)
FER RN R ZEE M, Ok D) 15,178 (2,763)
H i A< 008 R BB ST SR IEE N, O 2 (1,837) 7,946
B 18 575 -
A IKERBEE N, O D) 376 (1.572)
KEmEERS 26,714 5,224
B U FI 8 56 76
BAHFLE (17,838) (30,114)
MEMBEOES 2 F S EMH (341) )
ERNEFENEH (434) (2.755)
B8 SN TE 92) -
KEEBZRSRA/ (RE) FHE 8,065 (27.643)
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HE_ZT=F=A=+—HIFE

—EZT=F —EE =
Bt o F#ET FHBT
(E73))
KEEB2BRSRA/ (Rl F8E 8,065 (27,643)
RETBZHERE
BEBRTEE (2,008) (3,883)
HEBTEEMSRE 6,240 3,169
HEREMERBRIE 2,139 9,543
HEHMIEE S RE - 9,935
BB T HE M (1,404) -
REZHZHERAFHA 4,967 18,764
RETBZHERE
BT BRIE 28 31,363 —
B 15 81T X 28 (1,584) -
BHETER 1,395 -
BERITER (44,765) (5,933)
R EMER 4,293 -
BEEMBER — 467)
BMERANBEE 2 ERNETH (1,041) (4,597)
LB R 2B A E R (1,297) (1,467)
BEEH RS R HFE (11,636) (12,464)
Bm (R ReRERRLEH 1,396 (21,343)
BEEESEAMMBERZETESX 31(b)(N) 64,007 -
FNzHRehERKREER (57,103) (35,760)
ERZASGRERARSEER 8,300 (57,103)
ReRERARGBEREERSN
BeRBTER 8,300 6,904
BITEX 23 - (64,007)
8,300 (57,103)
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